RIRTHER Gkt EIRMHR

Fs e s il B THEBAM | HE
1 B (-1-19)2) BIAR TBJ1600/1. 75-BLW & 1
2 = (-1-192) PAR TBJ1600/1. 75-BLW =) 1
3 ki (-1-192) PAR TKJ1000/1. 5-JXW = 1
4 A (-1-192) AR TKJ1350/1. 75-JXW & 1
5 Erh (-1-192) BIAR TBJ1350/1. 0-JXW & 1
6 BEfh (-1-192) BIAR TKJ1350/1. 75-JXW & 1
T IR (1-195) BIAR TKJ1000/1. 5-JXW & 1
8 RER (-1-192) PAR TKJ1000/1. 5-JXW & 1
9 EEff (1-6/2) BIAR BJ1600/1. 5-BLW = 1
10 Pif (1-62) AR BJ1600/1. 5-BLW a 1
11 Efh (1-6/2) BIAR STVF-B & 1
12 EEks (1-6)2) B TBJ1600/1. 0-JXW & 1
13 Hh gz 1 S AL 45 YCWZ99HDO-50PA = 1
14 g2 3 AL )50, YS DC CB S3 5CHC & 1
15 H 29 AL AN YS DC CB S3 5CHC & 1
16 THBZE H ¥ Y225H-2 & 1
17 EIER H ¥ Y225H-2 & 1




